[7,0.0,9.0,0.0.0.0.0.0.0.000000000 [19.0,9.9,0.0.0.0.0.0.0.0.0.0000000
SOOOOOOOOODOOOK SOOOOOOOODDOOOK
SOOBOOOODBDOIINKK e rererereretere e e re e e e e e et

6 6.94 m2

—
6.05 m2

O
—
‘;j:\‘
IV
H- L
= do
— |\
X
Qo

T R
e

| \[]
T, iR iamrars i
% — -ooo :: — L
== = 10
12 1= — 5.04 m2 O ¢
4.35 m2 §: — E)
7
. . . 5.86 m2
1
Zm? [NV
[T T . . .
= 1 pastiprifat sienu L=700
79922 = 0 mm lidz 150
A/ . . . 5
14.03 m2
14
5.40 m2
I

3

—| 73.98 m2

_4
27.69 m2

AN AANANAN NN NARNNNANNN NN NN NN NNNNNNNANNNANNNNNNNNNNNNNNNNNNLN

_2 |
7632 m2

(-}
ANAANANNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNNN

‘. ‘
I T

«
xxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxx

‘. |
| G 1




